~r 2SA1386/1386A

O000OPNPOODOOODODODOOOODOOOO (2SC3519/3519A000000000)

gobodoboboooboo

m000000 (ranzsn) mO0000 (TaD 250) 0000MT-100(TO3P)
000 SR
oo
2SA1386 | 2SA1386A | Qoo Hoonond 2SA1386 | 2SA1386A | © o L 156ws _ o w480
o X <l 3 2.0:01
Veeo| D160 | D180 | v 0 100max | 0 100max | A T s
Iceo T TN—F
Veeo| D160 | D180 | Vv VeeD | 00160 0180 v | L/ e
Veeo 05 v leso Ves 0 5V 0 100max uA LI E‘j .
Ic 015 A V(BRICEO Ic0 0 25mA 0 160min | [ 180min \Y o @
I8 04 A hre Vel O 4V, Ic O 5A 50min(] i Tl
Pc 130(Tcel 2500) w Vce(sat) | Ic0 O 5A, 180 0 0.5A 0 2.0max Y £ g}L% JhJ—z
" S| S
Tj 150 0 fr VeeD O 12V, [0 2A 40typ MHz g ¥ | ‘ . v
Tstg 0550 0150 0O Cos Veel 0 10V, f0 1MHz 500typ pF “ | 1.05:8% [ |0.65:97

sjO00000o0ooobooboooooog

00000 O(500 100), P(700 140), Y(900 180)

Vee RL Ic VBB1 VBB2 IB1 IB2 ton tstg tf m ooboooeog
) (@) (A) v) V) (A) (A) (bs) (Ws) (Hs) oooo
—40 4 -10 -10 5 -1 1 0.3typ | 0.7typ | 0.2typ ooooooo
lec=VceOODOODODOOOd Vcee(sat)-ls0 0O OO OO0 le-=VeeD O OO OQOOOOO
15 3 15 (Vce=-4V)
h WS mA - B /
@‘;ZQ/“\/@“\ —300mA_—
S - 177
LY A - /1]
/ —200mA 2 /]
<-10 // ] i 2 <-10 [/
g /a4 -150mA E ot /
- L — > 5 Al
] / —100mA-| 3 g - /4
; ’ // o =] .
ER N /14 ° c £
- y/ ] =] K 5
7 —~50mA o ~
% ! - ’J_| Ic=—10A 9 SHG
18=—20mA | D~ of f
A — SRS S
V /X7
% -1 -2 -3 -4 % -0.2 —0.4 —0.6 -0.8 ~1.0 % -1 -2
0000000000000 Vee(V) 0O00000ls(A) 000000000000 Vee(V)
hee=lcO OO OO0O0OO hee—lcO OO OOOOOOO Oja—t0 0D
300 (Vce=-4V) 200 (Vce=-4V)
T nLINRE 128.C 3
< N 5o0—= T o o
0100 o 25°C 7
o HpTye J o T T = & ]
= S s0 F3ole o o° it
[m) ~ N
(=] o [ —TTTT] ™ O L
™~ o m] 1
S i o o ]
[}
10 20 0.1
~0.02 ~0.1 05 -1 -5 —10-15 ~0.02 -0.1 05 -1 -5 -10 -15 1 10 100 1000 2000
0000000Ic(A) 0000000Ic(A) 000t(ms)
fr—le0 0000000 AsSOOO0O0OoOooOoooOoOaO Pc-Tald OO
(Vce=-12V)
60 -40 I 130
l
20,
T~ Js \
A \ e = = 100
/|
Ta0 f Y < - g \ &
s ) ™ T 5 \ s
E A1 ©
o A g o ™ \ = o
O // / N o -1 X\ O \O
= o o oooooo NG =
o // L 3*0-5 ooooo \\ o 50 \
H20
= / % o 1.2SA1386 N E \
/// // 2.2SA1386A
/1
A LA -0.1
el
=T +H- s 000008 \
0 -0.05 ' [
0.02 0.1 1 10 -3 -10 -50  -100  -200 % 25 50 75 100 125 150

0000000 Ie(A)

0000000000000 Vee(V)

0DooooTa(’c)



